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Module 2 S+udy Guide

1. Multiply to find the product: (ps2.LTa)
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2. Divide: Then check, with multiplication. (ps2.LTs)
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- 3. Arectangular park has an area of 4,235 square meters. If the width of the rectangle is

35 meters, find the length. Area = length x width (ps2.L15) \ ')
4235 = 35 354735

c 35
xga }3
1O -0V

55

-—

=
The \Q@\/\@\WQ rQQ)rmg\e S A mokew =

- 4. A baker uses 3.3 pounds of flour daily. How many pounds of flour does the baker use in
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5. Kasey has 15.88 kg of flour, and she uses 3.4 kg to make apple turnovers. The
remaining flour is exactly enough to make 13 batches of biscuits. l 5 8%

a. How much flour, in kilograms will be in each batch of biscuit? ~ 3. 4O
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b. How much flour, in grams, will be in each batch of biscuit? (1 kg = 1,000 g)
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Level 4

1. Frances used her hand to measure the length of the wall. The wall was 74.3 hands
long and her hand was 3.29 inches long. How many inches long was the

wall?Ps2.L11) r:}_ Y % X 3 .29 ’ﬁ ]:[ ?) ornw
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2. Mrs. Shrode is traveling to Chicago. She travels 435.064 miles in 53.5 minutes.
How many miles per minute is Mrs_Sypodetraveling? Explain your answer using

numbers, pictures and/or words. (ps2.LT2) .13 20
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3. Mr. Olson is making fruit punch for his son’s sports team. The recipe calls for 6.4
gallons of ginger ale When he arrives at the store, he realizes that the ginger ale is
only sold in 2-liter bottles. He researches and learns that 1 gallon is equal to 3.79
liters. How many 2-liter jugs of gmger ale should Mr. Zendegas buy? (PS5.LT3
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